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BACHELOR'S DEGREE PROGRAMME 
Term-End Examination 

Ln 	 June, 2016 

ELECTIVE COURSE : COMMERCE 

ECO-1 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage : 70%) 

Note : Attempt both Part - A and Part - B. 

PART - A 

1. Attempt any four of the following : 	5+5+5+5 

(a) Distinguish between entrepreneur and 
promoter. 

(b) State the characteristics of a capital market. 

(c) Explain forward delivery contracts at the 
stock exchange. 

(d) State the various outdoor media of 
advertising. 

(e) Enumerate essentials of a good transport 
system. 

(f) How does a public enterprise differ from 
private enterprise ? Explain. 
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PART - B 

Attempt any three of the following : 
2. Name the four forms of business organisation. 2+8 

Describe briefly the requisites of an ideal form of 
business organisation. 

3. What is a stock exchange ? Describe briefly its 2+8 
various functions. 

4. Suppose your company has launched a detergent 10 
of low price. As the chief of the marketing wing, 
how will you choose an appropriate media for 
making it popular ? 

5. State the importance of distribution channel in 5+5 
the promotion of business. Describe briefly the 
factors that influence the choice of the channel. 

6. Suppose your company decides to set up a 10 
manufacturing unit of apparels. How will you 
proceed for importing the necessary machinery 
and technology for the same ? Explain. 

7. What do you mean by risk management ? 
Describe briefly the insurable risks and the 
non - insurable risks. 	 2, 4, 4 
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